[ Efficiency vs vertpos |

—_

0.5

20.45

[
>
>

0.4

9
$0.35

ettic

Ratio

0.3

0.25

0.2

0.15

.................................................

.................................................

.................................................

.................................................

oA TR LR RN RN RRRRE LRRLE LRRRN AR

0.9fH- -
0.8fH---

L SO

-3
B+ Sl - -
|-
+ |
. +
-+ .
- R e

0.7H .
1072 107 1

10 0?
TP vertr (cr%)

—=— DQM_mKFit_TT_retrain

Efficiend —— pom_mkFit_TTold

N
—

efticiency vs ver

Ratio

1.2

0.8

0.6

0.4

0.2

1

0.8

0.6

q

_'h* 2 = ”'

-30 -20 -10 0 10 20 30

TP vert z (cm)

[ Efficiency vs. sim PV z |

~ 0.1

>
2 0.09

£

50.08
20.07
o)
20.06,
@
(&}
£0.05
()

Ratio

0.04
0.03
0.02
0.0

50 =15 =10 =5 0

Sim. PV z (cm)



	Contents
	Page 1


